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i/l 1M General Instructions :
1) Teefl -3 & YEd IO W IUAT SrphHie Iaed ford |
2) WS U B WA IHHT 3 IR 3ifhd |

ESE

1) Candidate must write his/her Roll Number on the first
page of the Question Paper.
2) Marks for every question are indicated alongside.

Yus—3 / Section-A

TS ¥ —
Multiple Choice Questions -
T f=ifea vt ¥ Ry v w8 Ao o1 o W)

)
Write the answer of following multiple choice questions.
() U ReRis 3T e & — . (V2)
@) m @ @ m @ Sm!
Unit of Cell Constant is -
(A) m 3B) Q <G m' (D) Sm!
(i) Cu”? 3T &1 gEHT el & — (o)
@) 1.73BM @ 3.87BM (W) 2.83BM &) 5.92BM
Magnetic moment of Cu*? ion is -
(A) 1.73BM ‘ (B) 387BM (C) 283BM (D) 5.92BM
(i) I DA A ¥ fFa o1y &1 Y a3 & (V2)
@) Ni @ Zn @) zr ® Po
Which metal is purified by Van Arkel method?
(A) Ni (B) Zn ©) Zr D) Po
(iv) 18 A i e ger &1 uie {2 (%)
@) wfe @ fedws @ o @ SR
What type of amine is tri methyl amine?
(A)  Primary (B)  Secondary (C) Tertiary (D)  All of the above
(v) faei®a B-12 % Sufkerd arg ? - B (%)
() Fe @ Cu ® Co @ Ni
Which metal is present in Vitamin B-127?
(A) Fe B) Cu (©) Co (D) Ni E [EI
vi) fr= %4 g @ @a 22 RLE
@) TP @) W™ @) W @ wew WM (2)
Which of the followjng js invert sugar? '
(A)  Glucose (B)  Fructose (C)  Sucrose (D) altos
i) P H W B SR s T8 2 ——
(@) HCHO (@) CCLCHO (W) CHy-CH,- CHO (%) (CHy),C.CHO )
Which of the following will not give Cannizzaro reaction? o
(A) HCHO (B) CCLCHO (C) CH;-CH:-CHO

(D) (CH3),C.CHO
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(viii) ﬁWWmWWWﬁM@WW?~
@) wefe e (@ RS e
ctom AfPH®

@ R sfede ()

The reagent with which both acetaldehyde and acetone rea
(B) Grignard reagent

(A)  Fehling solution

(C)  Schiff reagent (D) Tollen’s reagent
(ix) DNAﬁaﬁmmwm?? )

(@) GREPIRD 3 (@ wRpRE 3

@ wowgRe I (@) rEfed 3

Which acid is present in DNA?

(A) Phosphoric acid (B) Phosphorous acid

(C)  Sulphuric acid (D) Nitric acid

(x) mmmﬁmmm:@mé?
() ferd @ @ () TR (@)  STgHIegT

Which Amino acid does not have asymmetric Carbon Atom?
(A) Proline (B) Leucine (C) Glycine

v R e @ gl AR -

ct easily is -

(D) Isoleucine

Fill in the blanks -
Pk ek i 1 & gurud B g |
Elevation in boiling point is proportional to...............ceoeerrnneeeee
(ii)  FACTET D BT RTHRID T s 2
Chemical name of Vitamin D is.........cooiernnieermmmmmmmrmrnenee oo
R Gl Bes Eo i A | L e ———— q 2|
The bond present in the protein is NAMEd @S ....cuvnrrmnieinreneinnias bond.
gl

Gv) TSGR TEPIETA BT TUPAC T s
IUPAC name of Isobutyl alcohol is...........ooeriuinieienmmiimmeneeeene e
TRt 1o B [ 1 2 — YHR D HGT < 2

(v)
Double salt dissociate in water to'give ...............ccceeveee types of ions.

(vi) ororge aeal W I S U BT oo ®Ed B |
Alloys made from lanthanide are called .....coooiviniiiiiiiiie e
73 3o YRS 4 — :
Very Short Answer Type Questions -
G) &9 @ frm ford
Write Henry’s law.
(i) R T fFY FEd 87
What is Osmotic Pressure?
iy e AT Rerie 3 wergar W IffEa # HI Fad |
K=3x10" sec’
With the help of following rate constant, indicate the order of reaction.
K=3x10" sec’!

(v) R ¥ ARIT IR G} PR BT YBR o |
WriEe the type of hybridisation of Oxygen atom in ether.
(v) et & fhar FARIBH vd AR @ B W T 9T ENT?
' What will be obtained if Phenol reacts with Chloroform and base?
(vi)y fEaert sfieds & wwemr ford )

Write structure of Hinsberg reagent.
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HYus—9q / Section-B
TYTRTHS 49 — (12)
Short Answer Type Questions -
400 K @1 X facgd &1 WRIERYT I@ 0.821 argaved €, dl fAddd @ " 9d /dfer § g
B (R=0.0821 sfex argavsd Sfead ' Hia ) ' (1172)
If the Osmotic pressure of solution is 0.821 atmosphere at 400 K temperature, then find the concentration
of solution in moles per litre. (R = 0.0821 Lt Atm K" mol ')

G ESSI0H Soldels &1 AMifhd s a9 | (112)
Draw a labelled diagram of Standard Hydrogen Electrode. ‘
S faerm #t Arewar 9w R 5 gm WA eEgiegs 500 mL STA # el gan # | (195)

Find the molarity of a solution in which S5gm of Sodium Hydroxide is dissolved in 500 mL of water.

g Y- 6 FE 82 o A A afifhar & Rg org Mgl 910 B @1 4 ford | (1%2)
What is Half-life? Write the formula to find out Half-life of first order reaction.

HHAT 41g # g AF M B 1 5 AT FReN J L 22 (1)
What are the three reasons for transition metal to form complex compounds?
HHAY eng A s arg T A wgiy ol o o) 22 sereser AR

Why do transition metals have a tendency to form alloys? Give examples.

RS tergs TfE W aRreme sfifrar 3 ufy @9 frarha 2 £ T
Why Aryl halides are less reactive towards nucleophilic substitution reaction?

NH 5 (12)

(1)

(1)

NaNO, + HCl
0-5°C
SWRITT AfAfhar ¥ (A] 3R [B] &1 weRfE w3 ford |
NH,

- [Al =3 [3]

NaNO,+ HCl . H,O
o (Al —f— [B]
0-5°C

Write Chemical formula of [A] and [B] in above reaction.
Yus—/ Section-C

Qd SRS ¥ — ©)

Long Answer Type Questions -

(i) TIRF I IR iR srquRely 3 affirar & A &1 amedta frego @3 (1)

(i) log KTJT = & #ea Sfrorg aIY | ' ()

@) Draw a diagrammatic representation of the rate of reaction in the presence and absence of catalyst.

(i)  Draw a graph between log K and %

fipveet & fHETT & MR W [Fe (CN)J* & Jraira o Td 1 @) qwamey | 2)

Explain magnetic property and colour of [Fe (CN)6]* on the basis of Crystal Field Theory.

= afafear &1 | g — i

()  SToiT sifAfe

Gi) 9 JAfufear

Write equation of following reaction -

i) Darzen reaction

(i)  Wurtz reaction
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Wug—g / Section-D

fraeTeT® wem — @)
Essay Type Questions - _ . 4
945 ()  gu ¥l B A fra amaR S A B avf w | @
(i) 005 M e sguey & fead @ dr@dd 298 K W 001 Q'em! 2, @ 39 faaad il
AR ATADAT ST DY | o @)
(i)  Draw a labelled diagram of a fuel cell and describe its structurc. |
(i)  If the conductivity of 0.05M electrolytic solution is 0.01 ' cm™ at 298 K, then find the molar
conductivity of this solution.
. srgar/ OR »
(i) w%mﬁ%ﬁamwﬁmwmaﬁl
Gi)  TRRTM FoiRTmS, SRS deivEs AR URRE wite @ 3 agdr W e AT
FE 125,425 TG 91 Sem? mol ' 3, A THRE a7 B S AN WX HOR AAB FId
Eadl
(i)  Draw a labelled diagram of a dry cell and describe its structure. _ o
(i) If the molar conductivity of potassium chloride, hydrogen chloride and potassium acetate at 1{1ﬂm.te
dilution is 125, 425 and 91 Scm? mol ! respectively, then find the molar conductivity of acetic acid
at infinite dilution. ‘
916 (i) i e BT IUPAC M forgd | (1)
(i) TSI WA $I AMAS GHGOT ShY TR | @
(iii) . COOH (1)

AL Y

ISR ifafsar # [A] & TEREtE g3 o |

(1) Write JUPAC name of oxalic acid.
(i)  Explain Aldol Condensation with the help of chemical equation.
COOH

(ii) .
@ M, ]

Write chemical formula of [A] in above reaction.
. 3ar/ OR
(i) vHifed 3 &1 IUPAC M ford |
(i) e AMEE B TEafie wfeR gRT SRR |
(iii) CH,
CrO _Cl
22 |A]
S At # [A] &1 TEtE @@ o |
(i)  Write IUPAC name of Acetic Acid.
(i)  Explain Stephen reaction with the help of chemical equation.
(iii) CH,

CrO Cl [A]

Write chemical formula of [A] in above reaction.
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